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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. All questions carry equal marks.
3. Attempt any five.

4.  Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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What is organizational behavior? Differentiate
between the contribution of Taylor and Fayol.

What are the major disciplines that contribute to OB?

Explain the concept of “Personality”. What do you
understand by Type A and Type B personality?

What is Motivation. Explain content and process-based
motivation with relevant examples.

Distinguish clearly between intrapersonal and
interpersonal conflicts with relevant examples.

Who gave Johari Window and Managerial Grid?
Explain both giving relevant examples.

What is leadership? Explain transactional and
transformational leadership with example.

McDonald‘s Corporation, perhaps the premier
hamburger retailer in the world for decades, now faces
significant problems. Within the last 10 years,
McDonald‘s share of fast food sales in the United

States has slipped almost two percentage points. The
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drop has come despite in the company‘s increasing its
number of restaurants by 50%, thereby leading the
industry, Michael Quinlan, CEO at McDonald‘s is very
disturbed and wants to introduce a new system in his
restaurants. Quinlan is an astute manger, and he knows
that many problems will arise before the system
contributes all that it can to the success of the

organization.
Questions:

(i) How should McDonald‘s try to regain its lost
sales by applying the learning organization
approach?

(i) List some advantages of adopting the learning

organization approach?
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